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Note : First 15 %ules are allotted for the
mndida%:s to read the question
paper.
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Instructions :

i) There are in all nine questions in

this question paper.

F19582 [ Turn over
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324[xB) Afi Ao stions arc I'.UIIl[Ju]..“if:'r:\".

o I "lhe | beginning of  each

i) auestion, the number of parts
[t”' be attempted arc clearly

mentioned. _
Marks allotted to the questions

are indicated against them.
v) Start solving from the first
question and proceed to solve till

the last one. _ :
vi) Do not waste your time Over a g
question you cannot solve,

frefge @Y /@vel 1 & HITAT
&) uE A & £ R > R, f(x)=x"
g ufeaTed ¢, @el 39 w1 9I9F

1v)

) [ UFH HEDRE &
i) f 9g-Uh DTS 8
i) f Tl & o] TSR T @
iv) f F @ THH g AR T a
HTEBEF ¥ | 1
@) tan ' (V3)-cot™ (-J3) I TA &

) = ii) _%

i) O iv) 2J3. 1
M FEETW y=x+1TF y? = 4xF

Y@ e ?

i) (1,2) i) (2,1)

m)  (1,-2) iv) (-1,2). 1
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P(A)+ P(B)~ P(A ST B)=P(A),

11i)
1v)

P(B/A) =1
P(A/B)=1
P(B/A)=0
P(A/B)=0. 1

fAafafed § 1 g\@ﬂ? Icnszxdx
ﬁmm%@
Q&

1)
i)
iii)

1v)

% $n2x+ c
P
2C0Ss X SInx +%+c

X sinZ2x

4 2
cos2x+c. 1

+C

Attempt all the parts :
Suppose that a function f: IR - IR

defined by f(x)= x*, select correct

a)

option :

i)  fis one-one onto

il)  fis many-one onto

iiij) fis one-one but not onto

iv)  fis neither one-one nor onto.
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Value of ta

1) i 1) -5

2
) 0 iv) 2ﬁ B
y=x+1 is a tangent line at which

point on the curve Y- = 4x -

oo(1,2) i) (2,1)
i) (1,-2) iv) (-1, 2) 1
d) 1f Aand B be two events such that
P(A)+ P(B)-P(A and B) = P(A)
then
1) P(B/A)=1
iy P(A/B)=1
iy P(B/A)=0
iv) P(A/B)=0. 1
e) Correct value of the integration
IC052 xdx in the following is
i %+%sin2x+c
11) 2cosxsinx+—¥2—+c
111] £ _ Sin2x
4 2
v} cos2x+c.
2. FfeiiE avdt mvet w5 e A
F) y

Hifey |
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i) AT A NHU (et X’ o 2]
' . L LA f{x}=—2— y X 0 o X Y |;:| :,l .‘.Ilfi
B Hi:f{ r-’-hl o 1 NV ”’ then find the
N AR g = 1+3)-5k A vl
» A A A . \._:.Il"-ll11 .\:.'III.(] Y 1
b=5i-j-3k é. dil ¢ Solve  the differential  equation
e R 1 2
(a+ b).(a- b) T1d HifaT) 1 .*:-".f Jlrxe 1
GA 1+ y°
2) ufaxw:[g gl@m N e
- & 3 [T g d 99T 302 &l & iU
X-Y=[g , At X @ Y ® @) dF  x=acos 0, y=f151ﬂ39 F
HE A6 | 1 o=2 W e F odEUET  §d
Q d 1 2 o 4
%) S X ®_ W AU | 5
- dx 1+y2 IS R o
o | ¥) A€ y=sin"! x, @ oy wiww &
Attempt all the parts : (1- _,‘.z}d_"’y_ _ x-d—y. 5 |
a)  Find the value of dx®  dx ]
- - -1 -1 - ) 2 1 H
cot[tan” '(a)+cot” ‘(a)]. 1 ) TR [ 3 2}([ } g ﬂ 1 o
2 -1 1 N
b)  Check that the function f(x]=x— s e
2 31 ST | 2
1s continuous at x = 0. 1 7)) uE fg o
o A - "‘”‘"ﬂbm « W R R
+ =1 b o "~ _a+ -
¢y lNa=i+3j-5k and a*h= 5-YabeR NI qfer
> A A A
b=5i- j-3k, then find tlRERE 5wy wfp snfafe
- =+ 3 = iﬁ:q‘j_ e
(a+b).(a-b). ] ALRRIE
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Attempt all the parts

i)

Find the slope ol the normal of the
curve v =acos i, y=a sin” @ at

il

o -
( 3 2
b) If y=sin"'x, then prove that
2
(1- )Y = Y 2
dx~ E{@
) F md the c of the matrix
d) A hjnax}' operation * is defined on
a sct' R as a*b= a+bVa,bER.
Show that this binary operation is
commutative but not associative. 2
d
F) Al y=x O g, @ d—imﬁml
2
@) fagai(2,-5, 1) (1,4, -6)H

foe arelt @1 W 3w fag & e
A @ifAe St 3@ @ A 2 3 F
a9 1 3r: fafera & &1 2
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J3 Tedetd 4
, 1.,
Y I||.r i v 4 Hip ' [" v tan /. m
St Ty @A x4y ¥ L= T ’
4. Attemnpt all the parts
. ; dy )
a) If y=x ' then fing Ox
b) Find the coordinate of that poi) ||
which internally intersects the lite
joining the points (2, -5, 1) ana
(1.4, —6)inthe ratio 2 : 3. 2
| 1
) It Ay =, Pl and
2 p
P(AwB)=%, are the events A and
.
I3 independent 2 2
d) If tan” ' x4 tan ! Y+ tan 'z =1,
then prove that x+ y+ z = xyz. 2
5. AAfoitige T a fq.,,?f] r_ﬁ? m $T al
wifAT
F) y=(cosx )X 4 X x & @&H

5

i
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2 -2 -4
AR A={-1 3 4|&HIUHK
1 -2 -3

E & qTTRA & &9 B [@rg0 | 5

) tan”'(2x)+ tan” 3x1_§
A HITAU | Q& 2

%
i) Ak f{;..@% ~4x=3Vxe[1,4],

mm*g@mmrhaa‘rhm 3
g Waddl_y? =4ax a9 x° =4ay 4
e &7 1 &FFA T FIAU | 5
Ifg I 9T UF 99 Foh N @ &, O FH
g &9 Uh 6 AH = Wigewdar 3
ﬁﬁﬁl 5

g syt & =T Z =8x + Ty H
fyehay | 19 HIeIT

x<20, y<40, x+y <45,
Ix+y<s66, x20, y20. S
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fthe followtinyg

(cos X e x

4 | in the form of
-3
otric matrix and a
Sleew . symmetric matr 1X.

1 .“‘1‘.“-["\ [

r._?x5+1;m'](3x]-—-j J

If flx)=x‘ —-4x=3,¥xe[l,0]

then establish mean va!;u:

theorem. 3
Find the area of the regon
bounded by 1Wo par::bolas
3;2 = dax and x? = 4ay . 5
If two dice are thrown topcthef,
then find the probability of gctting
at least one 6. 5
Find  the maximum value of
Z=8x+7y under the fo lowing
constraints -
X $20, y <4

), x +y <45,

f3.t+g;£*ﬁq,13[},y20. ’
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) Z)
&llAT
#)  loane gt
(y+z)° Xy zx
Xy (x+2z)? yz o)
Xz yz (x+y ]2

LE}

m

%)

—Ex(t\{é&+y+z]
) FGFQHT 21-@; 6k

—3!+103} QkSTIT 51—6; 6k
q B AR 9t oo 1 GHEST 7
HIfT | 5
Uh U & 6 GR IV AT &1 4]
“q W W9 EE WE e O
FEHAA € aF (i) AT 5 FhEAT A
(ij) AMHaH 5 FHAAT F WFHA »
T i | 5

2
[—SeC2X 4y 1 AH W
(cot x — tan x)

e | S F19582
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a)

o
Lo

M ocos0 sind
2 A |~ qint cost
| )

.. . [ cosnb sinn® -
HINTL A _i_—ﬁmnll' cosn®

g fe s

- 3
(tan”'y - x)dy = (1 + y*)dx 1 &
1 hifo | S

6. Attempt any five parts of the following : °

Show that the determinant

y+z i"’ Xy VA S
w o (x+z) yz
\Z yz {x+ y]2

= 2xyz(x +y+z}3.

Find the equation of a plan
passing  through the pont

o M

A A A A
~<21+6)-0k, -31+10,-9k an

M~ A A
-D1-6j-6k.
A die 1s thrown six times. |f
a4 success  of "geuing Ve
number on the de”, the

hnd  the probability of gettin

(1) at least 5 Successes, (ii) at mo|
5 successes,
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Fl]l Find the value of
_SeCT2X  x.
(cot x = tan x)”

]

cos  sin0

. en prove
—-sind cusil]th I

e) If A= L

¢ sn sinno
that A’ :{ cosn ]

-sinn® cosnb

w

where ne W

Q
) Find the solutio he
o

differential equ
e 1 tq%

[1an_1y~.’%§§=ﬂ+yzldx- S
Frifofan © @ i Tm WUE & g A
%) [Aefeted @dest e

3x-2y+2z=8,2x+y~-z=17"

4.r—3y+22=4ﬁ3ﬂﬁqgﬁfdﬁﬁ

1T | 8
) i) fix)=3x*+4x3-12x2 +12

ER1 Wed %o & Ieadd e

fetam 9 T Sifeg 5
ll] ‘qﬁxy=e"'y’mﬁngﬂ-ﬁﬂ-q%

dy  logx

dx 3

(1+log _1:.:]"]r ‘

bj 1)

1
v one part of the following :
:-r:.\,'n-.\- the following system of
cauations 3x -2y +2z= 8,
yv+y-z=1and 4x-3y+2z=4
bv matrix method. 8
Find maximum and minimum
values of the function

flo)=3x% +4x®-12x* +12. 5
i) If x¥=e"Y, then prove that
dy log x 3
—_ 2 .
dx  (1+logx)
frafefaa § € Bl U @08 & 5 HIT ¢

8.
- ne X n
%) fag=iw [ —E—=T,
N £ l1+Jtanx 4
w) THg HiAY
T xdx _ n2
0 a?cos? x+b?sin? x 2ab’
8.  Attempt any one part of the following :
nf2
a)  Prove that _dx _ = .
! 1+Jtanx 4
b)  Prove that
i
xdx “2
0 GECDSE x+b25j_n2x " 2ab’
F19582
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EERS
—
r

—(3i+3j-5k)+u(2i+3j+6k)

1.(' ,
I

—* i A Is g A i .
r=(1+2j-4k)+2(21-3j+bk)F
aY F IS T*% FITHT 8
o P
1) %F?".""Q%'
N
TR
A ytanx = y~° sec x. 4
- - . - .. =B =
i) FEFELS TEEY g T4 b &
- 2 - = —% —
ME "WeF |a+b|<|a|+|b]
g B 4

] .
Attempt any one part of the following :

a) Find the shortest distance
between the lines

M

e Fat fa) fal M A

r=(3i1+3j-5k)+pn(2i+3j+6k)

and

b .1'-\ ﬂ_ A A A A

r=(i+2j-4k)+1.(2i-3j+6k).
8

]il

_ dy
) 1) Solve o - L ylanx = !Jr Cx.
dx
4
i) Show that for any two vectors
— — )
a and b it 1s always true
-+ —+
I.hc!.lltl-l—r')|‘:|ﬂ|+|b| 4
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